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Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
O PTRY T el
(a) When does Heckscher-Ohlin theory hold
good?

RIR-Y’fo gt oAl FREA 2
(b) Mention any one protective device.
REHR R Pre @i G&re TCE 40

(c) What happens if the cost difference is
the same in two countries?

T (P AR A1 G 2 20
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(d)

(e)

(9)

(2)

Write True or False :
uE 1 ST {1
The theory of comparative cost

advantage is based on complete
specialization.

e ARR RAT ©gt T RS
emzﬁ%@i@l?ﬁ :

What is import quota?

STt Sff{e gEe 2

What does forward shifting of an offer
curve mean?

GO M IE YA AREST @A &
& ? g
Name one non-tariff barrier.

OB SI-F ffSqmeq N o7 |

2. Answer the following questions : 2x4=8
O] PTRY eq fory

(@

(b)

(@
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Mention any two gains from
International trade.

SIS ifirers & crea (51 S SCES

Distinguish between commodity terms
of trade and gross barter terms of trade.

W9 ey 56 : CE R (o)
it wwiﬁﬁﬁﬂﬂﬁm

Mention twq advantages of free trade.

TS %03 551 s Tz 41 |

( Continued )

(@

(3)

What was the empirical result of
Leontief’s study?

feraibes SRmR surfefes Ferres [ wfes 2

3. Answer any three of the following questions :

5x3=15

O PPIYEd R (ler fofabm Ted for

(@)

(b)

(c)

@)

(e)
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Discuss the effects of protection policy.
S il ASIPTHR HCEOAT T |

Examine the effects of export subsidy on
an economy.

93 wAfoe I TAEOIRAT SR R
<1

“The effects of tariff and quota are
equivalent.” Explain.

T I SR AR geReER e 17
RIS

The domestic cost ratios of two goods
X and Y between two countries A and B
are 5X :10Y and 5X:15Y respectively.
According to the theory of comparative
cost, in which good A and in which good
B will specialize?

T3 (P A I B 1y AT X = Y I KAl
TH e H G 5X:10Y O
SX:15Y. PeMe® W ©g WP (Y
MHA® A (07 W% (FHRY TS B (e
ez sfia 2

Explain the concept of single-factor
Intensity reversal.

GIT-BAR 2o ReARogRem g=enfs aram
ERIN
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(4)

4. Answer the following questions :
O PR T fopd
(a) Discuss various effects of tariff. 10
%9 IS Lo Seenl 9 |
Or / 241

Define optimum tariff. Explain the
concept of optimum tariff without
retaliation and with retaliation. 2+4+4=10

I T e o | [/ afeeny s gfeend
SAf20e T g G AT 40 |

(b) “Foreign trade is called as an engine of
growth.” Why? 10

“Eotie Aftee Stafes [RErE e @l
@l”%ﬁ?
Or / H4I:

Explain how factor abundancy is proved
in Heckscher-Ohlin theory.

EIAR-FH wgfte TAmmE Figel @Ed
21 1 C0R, 010 3¥470 |
(c) Discuss the factors affecting terms of

trade of a country. 10
93 (PR G 7% ARIS Fq1 TR
S 41 |

Or / J41

What is reciprocal demand? What does
offer curve indicate? Derive equilibrium
terms of trade with the help of offer
curves. 2+2+6=10
A% i 5 2 o 792 6 foed wca ?
:2:{ I8 e SR AfAfers w6 faeld
|
* K &

8A—5000/220 3 (Sem-5) ECO M 4



